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o 960
01 AFR2tel] 1,160 1,160 0
OFAHE HBohEAIY dBt-2H| 600, 000& 600
c 200
iy 400
Oz &l 7,000 x2H x403] 560
202 044l 2,000 2,000 0
01 2Wobl 2,000 2,000 0
OBAESH ARET Oy
20,000& x2H x50 2,000
301 et Aa=Z 4,500 4,500 0
== 660
= 3,840
10 EHAIAHIEAZ 1,500 1,500 0
OFAE NERJ H EIIEA
50,000& x5 *23| 500
ORHHAE +BS AL
50,000& x10H 500
OFAHE F2HHEAF HIIE A
50,000& x10H 13| 500
12 JIEIEA = 3,000 3,000 0
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M Z3M=sH
X

o HAE 25 U SH(ASSX/=Q - FAH)
Sl AW HAUE S84 (el &2
_ _ MNuE o
SN EB -GS - MBAY - BES 01l &k o e HRE2
203 HRFY| 1,000 0 1,000
03 AlMETAR=TY| 1,000 0 1,000
OZAY FHDE BA 2= 1,000,008 1,000
301 LHBAI 28,000 28,000 0
07 BI2teI=2l 04t 18,000 10,000 8,000
OFAW 2FLE =X 900,000 %20 13l 18,000
08 /%1% H 0l 10,000 18,000 8,000
OFAW S20E =& 500,002 %2013l 10,000
PN E N VELE ] 192,700 172,968 19,732
| 80,850
= 40,425
2 71,425
307 eI2H0IE 192,700 172,968 19,732
| 80,850
= 40,425
2 71,425
02 BINANBE 192,700 172,968 19,732
OFAW YIS OF3EI0l 2Y  192,700,0008! 192,700
| 80,850
= 40,425
2 71,425
HAW 2¢Oy 29 4,000 5,400 A1,400
| 2,000
2 2,000
307 eI2H0IE 4,000 5,400 A1,400
| 2,000
2 2,000
04 BIAS AR 4,000 5,400 A1,400
OZZHAY AL Z2IY 2%
4,000,0002! 4,000
| 2,000
2 2,000
HAE NST X 21,440 20,720 720
| 9,720
= 11,720
307 2I2H0I 21,440 20,720 720
| 9,720
2 11,720
02 BIABABE 21,440 20,720 720
OZZHAE +RAILTTA Q12|
21,440,0002 21,440
| 9,720
2 11,720
HAE NASIRE 29 3,000 3,800 £800
| 1,500




SH: 2SS
HE: &

(=)
el 2

M- B8 S2(3H) - HRAY - BaS

22
J2

20
B
2

M

1,500

201 et

H S

3,000

1
1

,500
,500

3,800

A800

01 AtR2teld]
2 800,000&

10,000& 20 »22]

03

AHxAZs Fols(z208)
1,800,000& *13

H

H

H

1

,200

800

400
400

400

200
200

1,800

1,800

900
900

1,200

2,600

A800

=
o]
Id]
x
e
>
0l00
Ho
ton
0
=
0"
~
=]
06

HH S o

6,614,280

1,100,000
1,500,000

22,060
1,342,560
2,649,660

1,534,307

5,079,973

M HY OR

4,082,000
1,500,000

950,000
1,632,000

1,138,500

2,943,500

0

02
>
I
>
g
O
>
o
tol
>
9

M HY o8

2,007,200
1,000,000
300,000
707,200

2,007,200

401 AIEHIZ 208

M HY O]

2,007,200
1,000,000
300,000
707,200

2,007,200

01 Al£Hl

(OFSES FSESPNERTEE LRI YN goai
2,000,000,000& =14

03 A&=20HYI

OZYHHA 2 XSAME AIE20H

2,000,000,000%*0.36/100

M HY o8

2,000,000

2,000,000

1,000,000
300,000
700,000

7,200

7,200

2,000,000

7,200

A

s

P A HE X

0x
=
R

M HY o8

2,012,600
500,000
650,000
862,600

1,006,300

1,006,300




SN 2SS
I BRIINEE U BFAY AES(SHUDT/B)
Sl B IRINL (el a2
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl &+ 04 Sl ko Hms2
401 Al&HIL 20| 2,012,600 1,006,300 1,006,300
3 500,000
& 650,000
2 862,600
01 Al&H] 2,000,000 1,000,000 1,000,000
oHNBBI T4 1,000,000, 0002 * 14! 1,000,000
= 500,000
& 150,000
2 350,000
OHAOIYT HOYAL =5
1,000,000, 0002 14 1,000,000
= 500,000
= 500,000
03 Al 20| 12,600 6,300 6,300
OMHBBI =& ALY
1,000,000,000& *0.63/100 6,300
OB HOIAR HOAAIL BHE AL2UY)
1,000,000, 0002 *0.63/100 6,300
HEES 62,200 82,200 220,000
201 LBt A 40,200 40,200 0
01 A2 22l 38,200 38,200 0
OFXNE HE 2 500& *30,000% 15,000
OZZI0I1ES MZE 2 2,500& *5,000% 12,500
O2FINEE M 2,000& x5,000H 10,000
OBZEFASET 27,0002 2502 700
03 & A2 | 2,000 2,000 0
Ouiztsl S22 2 (0/HIES A
2,000,000 =14 2,000
202 (4 H| 2,000 2,000 0
01 2U0ibI 2,000 2,000 0
OZZEY L OIHEEA off)
20,0003 x2H «50 2,000
307 gI12told 20,000 40,000 A 20,000
04 DIZISAIE T 20,000 40,000 20,000
ORl125] BILMEZH BA 15,000,008 18] 15,000
020118 JYBBL B} (BESDLSY)
5,000,000 *13| 5,000
22 Al & 22 2,532,280 395,807 2,136,473
= 1,100,000
| 22,060
& 392,560
2 1,017,660
ZS2AZHEA 222 49,000 32,060 16,940
| 12,060
& 4,560




2H: 2SS
HE: PBRIINEE U BPMY IE(SIUD/BY)
ol DAL 2R (B9 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot Hlws2
= 32,360
101 Q1248 42,000 25,200 16,800
| 11,760
= 4,410
2 25,830
04 JIAH2RNSES 42,000 25,200 16,800
OSSBBHLAN SBSH (AHSET )
35,0002 ¥5& *202 * 122 42,000
| 11,760
= 4,410
2 25,830
201 Y2 ay| 2,000 1,900 100
| 300
= 150
2 1,550
01 At 2,000 1,900 100
OS2 BBHLA 222 7
200,0002 *5% +25] 2,000
| 300
= 150
2 1,550
301 YA 5,000 960 4,040
10 BALAH B A2 5,000 960 4,040
OSSR A AHIE A (DL S O &A)
100, 0002 *5% *43| 2,000
OSHRZ(HASO) MBS (DSH)
10,0008 5% 53| * 122 3,000
BHOYEX T M7 20,000 30,000 A10,000
g 10,000
= 3,000
2 7,000
401 AE6IL 20 20,000 30,000 10,000
| 10,000
= 3,000
2 7,000
01 Al&d| 20,000 30,000 10,000
OZZOHYEXE HX 2,000,002 1072 20,000
| 10,000
= 3,000
2 7,000
BALS HYl L B 42,594 54,59 A12,002
101 Q124H| 14,574 13,776 798
04 JIAH2ZNSLS 14,574 13,776 798
O ZRX 22l Q248 34,9108 *22 x50 3,491
OFgz o oHAL QI2AY|
34,9102 %22 *502 3,491




SN 25HS D
o RYI|PEE L 2BFLY WS (SHLBT/DY)
Sl AL B (el &2
_ _ _ N E
SN -EHH . (B) - MPAY - BE2 Off &F oA Gil it o bRz
OSAMIIFH 23| o1
34,9108 +22 +602 4,190
ORTHUCISHULY S| oAy
34,9102 %23 *302 2,095
o4 EE 2 3,267,000 %0.0985 1,307
201 L2y 28,020 20,820 7,200
01 ALR eIt 5,100 3,900 1,200
OS UM LASTA HaZ HAH)
100, 0002 * 128 1,200
OSAMI YASHA AT L HE 7Y
50,0009 * 122 600
ORTHCISHULY 5T FoX HA4H)
500, 00021 %13 500
OHHBZI FSE HAH  800,000823] 1,600
OHMRBN SFA HAZT L HIE 2
100,0002 122 1,200
02 32| 22,920 16,920 6,000
OHABZI HIZ(G}EXT 44, SFa
=BIEST) 1,500,000 * 128 18,000
OdY¥BE U HYR M2 150,008 122 1,800
OSUMIF YASEA FHIIE 50,0008 122 600
OZ20HS, BEKRUX ®II2
100,0002 122 1,200
ORTHCISHBIY 2 100,000 122 1,200
ORBYBAERB(573-7175) 10,0008« 122 120
BN el 204,316 270,201 765,885
101 @121t 10,738 10, 151 587
VIS TEES TR 10,738 10, 151 587
OBOUA & MOt ZEHH 21248
34,9102+ 102 +7 2L #43] 9,775
SIVELE 9,775,0002 0. 0985 93
201 2sr2 | 51,278 51,550 A272
01 ALR eIt 15,240 15,450 A210
ogsr+gH| 12,600
—EOA B2UEE S 7Y 400,000 +128 4,800
—ZOIAF BE Q4 30021+10,0000H+2% 6,000
—SOA BB HEX 7Y
50,0002 122 1,800
SEE 750
—HE L ASHA S S|
5,000 ¥52§ 53] 62 750
O3 B 22 1,890
—HURSY 2YARE FH 2T
0,000%1 9% +33] 1,890




SN 2SS
I BRIIBEE U BBAY AES(SHUDT/B)
el 2AZAILR R (=CR-E
- _ _ NUE &
S HH - (BH) - MBAY - B2 Ofl &t o il b o Hms2
02 2223l 34,038 34,100 A62
OZzZ22 2 MM 16,148
—EOA Y 2RI MRS
1,000,000& x12& 12,000
—EOAN U 2SN MERD
50,000& *12& 600
—SAUAMN HSD 23 49,900& 1CH+12& 599
—EOAl ROIMHAIAY B2 292
167,000 x12& 2,004
—SUA RIEESE 23 16,1702 122 195
—SRERI 2503 x63| *500 % 750
O¢ =zl 8,490
— e (HC2I]) 1,600& *1002| E4 33| 480
— LI (OISR AR A 2T 2O}
1,600 *102| & 120! «3CH 5,760
—EOUN SR FA
1,500& *102| Ef* 150 2,250
OAld&Hl |AIYI 9,400
—EOUAN U BN AES B
700,000& *12& 8,400
—&HCI2D 2 =Dl =2l 200,000& »5CH 1,000
03 A2 HI 2,000 2,000 0
OZTSEHD M59EE ST (HERY S)
2,000,000& 2,000
202 Oidl 3,300 3,300 0
01 =LA b 3,300 3,300 0
OSIZ ALY M2l &4 OfHl 150,000 12 +63] 900
OZAN L TSI} 22| ofy|
20,000 x5 x2H «12& 2,400
206 M=l 4,800 4,800 0
01 M=H| 4,800 4,800 0
OZAA R 20| AFZ 72 30,0002 +10% 300
042 ROR2 5% TY (45 42, ME S)
10,000 »10E *203| 2,000
OFAUA == 2l Ebl 3,000 500X 1,500
OFUAN == 22| HIz 20,0003 50X 1,000
301 LEtBA = 1,000 1,000 0
10 SALAHIEA = 1,000 1,000 0
O18&E= =&3 &&X A& 1,000,000& 12l 1,000
307 212t01& 130,000 136,000 A 6,000
02 GI2tAAEX 130,000 136,000 26,000
ORM3sl #M2Z=2ea 5 22 130,000,000 130,000
401 AIEHIZ 2 2,000 60,000 58,000




SN 2K
HE: BRIISAE L DIAY NE(SHURY/AHT)
Sl AL B (9l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
01 Al 2,000 60,000 58,000
OZ92t ST THEAY 2,000,000 14! 2,000
405 XHAHE SHI 1,200 3,400 A2,200
01 RAUSEH S| 1,200 3,400 A2,200
ORI AH2.50r) 7 500,0002 * 1CH 500
O+2 MEI|(2Y) 7 700,0002 *1CH 700
AT MO} B 8,450 8,950 A500
201 L2y 3,000 3,000 0
01 At 2ty 3,000 3,000 0
OBMSEZ M} 51ZA SFA 7
80,0002 122 90
oBMeIZ MI} B2 BE 7Y
70,0002 122 2,040
206 2| 5,450 5,950 A500
01 TWEHl 5,450 5,950 A500
OWSMIF F& VXS ZX 2 L THbh
(M2, 27H) 2,000,000 x23] 4,000
ORIt 2 ¢ W22 59 7Y
(4% 47 HZE S) 1,000,000 14! 1,000
ORWRMI +2 22| £bl 7Y
3,0002 *150 % 450
o 82 MAT A 2,207,920 0 2,207,920
= 1,100,000
= 385,000
2 722,920
401 Al&HIL 20| 2,207,920 0 2,207,920
= 1,100,000
= 385,000
2 722,920
01 Al&H] 2,200,000 0 2,200,000
O AHRSHAIR YDA
2,200,000,00021 *14} 2,200,000
= 1,100,000
= 385,000
2 715,000
03 Al&=CH| 7,920 0 7,920
0oz AYRSHAIR ALBA A&
2,200,000,0002 *0.36/100 7,920
SHE 2% (2HUZB/25H02) 50,000 48,000 2,000
= 24,000
= 1,000
2 25,000
THE 2Y 50,000 48,000 2,000
= 24,000
= 1,000




M Z3M=sH

B CHB 2N(SHUDDY/SH0E)
@t SN2 29 (ctel: &
_ _ _ Muo
SN CR(EH) - NRAY - BES 01l &k o e HRE2
i 25,000
A2 Az 7Y X3 50,000 48,000 2,000
=2 24,000
= 1,000
= 25,000
307 QI2t0IA 8,000 8,000 0
= 4,000
i 4,000
02 BlItAAEX 8,000 8,000 0
O212g Az 2| 8,000,000& 8,000
2 4,000
= 4,000
308 XX SHHSOIA 42,000 40,000 2,000
= 20,000
& 1,000
= 21,000
06 I 20UeEExS 42,000 40,000 2,000
O3 Az 2| 40,000,000& 40,000
= 20,000
= 20,000
O=AEEAMNY 20,0003 =100 2,000
= 1,000
= 1,000
HWeas(2aMsn) (222 /250s) 500,000 500,000 0
LHEHHXI = 500,000 500,000 0
2ol MSUEIISEHES 500,000 500,000 0
02 JI3dES 500,000 500,000 0
01 JISHES 500,000 500,000 0
O2M=rMsIEI= 500,000,000& 500,000




